


SRFEEE I IEFR
ALt K =R
THE SIMULATED TESTS FOR ENGLISH MAJORS
(GRADE FOUR)

2
l.H.
i
>
N

¥ X E T ALK TEERY



() HEF 1575
BEBEREB (CIP) #iE
B R R L R R AR S R R 7 3L 4

-4t JEFIBEE T R F M RREE, 1998
ISBN 7 - 5619 — 0626 — 9

1.8
M. -

M. 3%iE - HHFFH - KFER - R
IV.H31 - 44

FALENH . FH¥K

HRATT: AFIES S RES A
(AFOEIE X Fheds 1S5 BRETHES 100083)

» LA KR F DR

. 2EFiERE

: 1998 4E 3 A 1ML 1998 43 & 1 IKEPR

. 787X 1092 %% 1/16 EN%k. 16.5

: 381 TF  EI¥. 1-5000 Mt

: 25.00 5T

Al HFE R B
SN RE



]

ENGLISH MAJORS (GRADE FOUR), ##&E(5 FF & AiE5 L X s & 2143
HEX ) (FRAEFLOEEZXXR)GEREE P ARY,
K$H6%E B 4T,

(54 RiEH vy £iX8 MiXH R M%), THE SIMULATED TESTS FOR
UA A F,

1. REREFLFLE THARSGR R EL LWL ZRXGEH AE AT

2. AREREZTNRE—KRESE I BN, I TEILINE
AL EFR, IARMETHIRTERMNETHRRBGTERL o, BBELIETF
EXRBHMEGRS,ETRNERBKY, LRI IR ERGE, BLARKEF
A EZREEZG—FARFIZRTGHERNKETHION, FAHATEA, K
TR BRI X ERZER ;L EN, KNMAZXYABERLL T
doRzkiE, AP ZA LB RR B IR L4 E NG R, Az AEGEE
LT, %), ARERKRENEILAATEE-MIEGNEEZREX—, T
NERERNERENESHLE BRAARG TN/ LB EF S
Fe B gE, IBRRA, ZNAEZRHGRIR, EHRBERETH-KE
e LRGP E ZF L TR RER AR, RIETRIRBEAETHRL
HE R4 T,

3. HENFABE(H FFMAEF LEAAN AL ERF KPR FTHL & A
kR BRGEL, ABRE W, KB EHRIRME G AN A ¥ mbg 245,
TR EMREG LK, 0 L FRAMT A BB, ALZERAFER
RAMFIARGE), TRERE, EAX B P LR TR T ko AR, A

A5 2=

S ETFRH, R ERBTRMARE X~ LBRUNER, S FFL2EHHT
MANRS AN EPEX LNERAXA, A TEAFIRAAHX EX i L
ORAXRRA URETEH B EHRAEX A, Z,AER LT & F AR
LI

7] &
OFREFZHAFRURLAEMEYAULER, AARBETHALE izl‘ﬂ:hai{’ﬁlﬂ

BTAENBEZEREG Rl iRHit, ALFERTRNAZ R
R, EMBER MRFRED NAFRGFL, A A AR E L RIEX KXY
AJT, AR REF LA F D s, A RHGAEMNE,



ABANNE AER REYFPEATRE, A PHNELTTF 18 £RXAY
Bigdrs, F1LITEREGEHBUERH4AETERKAGBTHR L EREE
THE1-8ERBUT N BRI, £ 1.8 £ RXKMYEMNER,FF 1 2XAUTE
HB)REVHBETF 2348 FRKMYNTE AHWYPZT EEERLCHS&F 2,
345 £ XA EHBSRTHE T H 1.5.6.7 ERHEMEZHRALHS, 5
5.6 FRMYEMNTHS, £ 5.6.7 ERXAYTEHHs o F 6 HiXMEYE 8
5. AFHE /) MM & Anita Ritchie, James Hulbert # Megan Marie Aslaksen %
#, Gk Aok kow Rou ey KM

W
199749 4 30 H
FIRABES CAKE



CONTENTS

TSt (N ++++vsreesarresesrenensunesesararessuranessnnasaserenssesessastnnarsarssossssssssssasssosans (] )
Tlest TWO t=cverrreerereeeeetotnesatsorioteettsotuetsuescsstorssstensssretcssssorasesonsossncssnsssnns ( 23 )
Test Three ro-eceereeeertame ettt iinie sttt s set s sneseetee i cenaeesnennees ((45)
Teest FOUE +++ e serseeesioressntiniuctnssiniieitnsiisisersintiaetsniososissssisasesssssssascsss (68 )
Teest Five ecvtesctrtrttstetrrttrtorrererrennoriasionsostssstcasastassestessssscecsessssoscassssessons ( 90 )
TeSt SIX  oeveeerenrereneresatentueant ettt et et e e sttane s se s sensna it ses snsneeseeeenens (111)
A UL T T RLLLLLLITRTISTPITRISPTRIPRI ) [ ¥ )
Test Eight  sececeseereeise ittt ceenineienesesenancesaenene (154)

KEY AND EXPLANATION :ieeccreeetmimnianniiiieenesens (175)
Test One I T I T T I T e P (175)
s R P PN ¢ 1:11))
T N Y 2 LT N 6 1. 7))
Test FOUE ++rre s rrtrteinimitet ittt i it s s (188)
Test Five vreretererereetuttitiii ittt et et e e e eeeees (193)
N S I G L )
TeSt Seven  ++sctteesteerssastoruttamn ittt e e e (203)
Test Eight  s+eeeereeeeorerer ettt e e s s sen e s (208)

Test One soeererrreeerscrnrmiit it e st et st st cen e ses seneenaes (213)
Test TWo rre et ren st in ittt ettt ettt et st e e ees (2]8)
Test Three retereeectatettntaieatiateritetonetssiseronsaesssessrisostsesetasassssesssesossosossacsane (223)
Test Four =+ cvererersess oottt ittt st e st e e e e e e (228)
Test | O R R D T PN (233)
TlesSt SiX  ttverrerreeeeceneetatoretuoureseaccsousoassesssssssossstsosssitsssnasossncesarosnsssassacssns (238)
Test Seven £8 8 8 e4 et et 140 00 00 504 ass e s ee a0 et Pe e aEe R s e e SOl BUE BEN RO PEBEIE BEL BT RSSO NBEsSEE (243)
Test Eight et eee ae et et ean et e he e e ee s et ses ae e aen sesane et betss taeeeeaestbe assee sbsassasease (248)

SAMPLE ANSWER SHEETS -+ cseeeenesesnieiniicsiniics sttt eneneecneenns ()



TESTS

TEST ONE

PAPER ONE

Part I. Writing

Section A. Composition (35 mins. )
Write in ANSWER SHEET ONE a composition of about 150 words on the following topic:
The Working Woman

You are to write three paragraphs:

In the first paragraph, state clearly your viewpoint on this issue.

In the second paragraph, support your viewpoint with details or examples.

In the last paragraph, bring what you have written to a natural conclusion with a summary
or suggestion.

Marks will be awarded for.content, organization, grammar and appropriateness. Failure to

follow the instructions may result in a loss of marks.

Section B. Note-writing (10 mins. )
Write in ANSWER SHEET ONE a note of about 60 words based on the following situation:
You have not yet recovered from a bad cold. The doctor has also advised you to stay in bed
for a few more days. Write a note to your teacher, explaining the situation and asking for an ex-
tension of your sick-leave.

Part 1I. Dictation (15 mins.)

Listen to the foilowing passage. All together the passage will be read to you four times. Dur-
ing the first reading, the passage will be read at normal speed. Please listen and try to understand
the whole text. For the second and the third reading, the passage will be read sentence by sen-
tence, or phrase by phrase, with intervals of 15 to 20 seconds. For the last reading, the passage
will be read at normal speed again. During this time you should check your work.

Please write the whole passage in the corresponding space in ANSWER SHEET TWO.



PAPER TWO

Part II1. Listening Comprehension (25 mins. )

Section A
In this section, you will hear 10 statements. The statements will be read ONLY ONCE.

They will not be written out for you, and you must listen carefully in order to understand what
the speaker says.

After each statement, you will hear a question. After each question, you will have a period
of 15 to 20 seconds to read the four choices printed in your test book and decide which one is the
correct answer to the question you have heard. Then, in your ANSWER SHEET, find the num-
ber of the question and mark your answer by drawing with a pencil a short bar across the corre-
sponding letter in the brackets.

Listen to the following example:

You will hear:

Susan is fifty-four years old this year. She has been an English teacher since she was twen-
ty-six. How long has she been teaching English?

You will read:

(A) Thirty-two years.
(B) Thirty-four years.
(C) Twenty-eight years.
(D) Twenty-six years.

Choice (C) “Twenty-eight years” is the correct answer. Therefore, you should choose (C)
and mark your answer in the ANSWER SHEET by drawing with a pencil a short bar across the
corresponding letter in the brackets.

Sample answer:

(A) (B) (€) (D)

Now, listen to the statements.

1. (A) He asked his secretary to send it.
(B) He signed it and sent it himself.
(C) He not only signed it but also had his secretary send it.
(D) He sent the letter to his secretary.

2. (A) At eleven o’ clock.
(B) At half past three.
(C) At three o’ clock.
(D) At half past eleven.



3.

5.

6.

10.

(A) It is possible for them to have a holiday.
(B) He is too busy to have a holiday.

(C) It is impossible for them to have a holiday.
(D) He has decided to have a holiday.

. (A) He is ready to accept any delay this time.

(B) He will pay for the work when he comes back.
(C) Any delay this time may result in the refusal of payment.
(D) None of the above.

(A) He likes butter better than biscuits.
(B) He likes biscuits very much.’
(C) He does not like biscuits.

(D) He hates eating biscuits more than anything else.

(A) He did not hear the alarm.
(B) He does not have a clock.

(C) He overslept this morning.
(D) He forgot to set the alarm.

. (A) To go to some training course.

(B) To attend a university for better qualification.
(C) To equip herself with more experience.
(D) To fit in with the job more quickly:

. (A) Only two or three.

(B) Two.
(C) Five.
(D) Ten.

. (A) Quite fairly.

(B) By taking them to small fairs.
(C) Unfairly.
(D) By looking after their affairs.

(A) Because she has an appointment every day.
(B) Because she has found a well-paid job.
(C) Because she has to be away all the time during the day.



(D) Because she will not be able to stay at home all day long.

Section B

In this section, you will hear 10 short conversations between two speakers. At the end of
each conversation, a third voice will ask a question about what was said. You will hear both the
conversation and the question ONLY ONCE. After you hear each question, you will have a period
of 15 to 20 seconds to read the four possible answers marked (A), (B), (C), and (D) printed in
your test book and decide which is the correct answer. Mark your answer in the ANSWER
SHEET by drawing with a pencil a short bar across the corresponding letter in the brackets.

Listen to the following example:

You will hear:

Man; Let’s go for a nice long walk in the country this morning.
Woman: I’d love to, but I’m afraid I have a bad cold.
Third Voice: What will the woman probably do?
You will read:
(A) Take a walk with her friend.
(B) Insist her friend stay with her.
(C) Put on a coat.
(D) Rest and take care of herself.

From the conversation, we know that the woman has a bad cold and needs to take a rest at
home. The correct answer, therefore, is (D), “Rest and take care of herself.” You should choose
answer (D) and mark your answer in the ANSWER SHEET by drawing with a pencil a short bar
across the corresponding letter in the brackets.

Sample Answer:

(A) (B) (©) (B)

Now, listen to the conversations.

11. (A) He wants the woman to park her car elsewhere.
(B) He does not object to her parking her car here, but the others probably would.
(C) If she parks her car here, she’ll find it difficult to get out of her car.
(D) He’ll help her park her car.

12. (A) The bike is as practical as a new car.
(B) The bike is almost as expensive as a new car.

(C) The bike is too expensive for them to buy.
(D) Both A and C.

13. (A) She misplaced her card.

(B) She arrived for registration too early.



14.

15.

16.

17.

18.

19.

20.

(C) She missed the time for registration.

(D) She lost her class card for Biology.

(A) A meeting.

(B) A picnic.

(C) A surprise party.
(D) An appointment.

(A) He found it interesting.
(B) He found it enjoyable.
(C) He found it informative.
(D) He found it boring.

(A) The man is afraid of being operated on.

(B) The man wants to have an operation as soon as possible.
(C) The man is eager to get out.

(D) The man will take painkillers to reduce the pain.

(A) The woman will go home for dinner.
(B) The woman won’t go to the concert.
(C) The man and woman will eat together.

(D) The man and woman will go home before going to the concert.

(A) Everyone in the class has paid the fee.
(B) The transportation for the trip is free.
(C) Some people did not enjoy the field trip.
(D) Some people may not go on the trip.

(A) Fetch her coat from the laundry.
(B) Drop her off on his way home.
(C) Buy a new coat for her.

(D) Drop his class at noon.

(A) Ask someone else to go with her.
(B) Go to that fancy new restaurant.
(C) Go to a different restaurant.

(D) Wear different clothes.



Section C

In this section, you will hear several news broadcasts. After each broadcast, you will hear
some questions. You will hear them ONLY ONCE. After you hear each question, you will have
a period of 15 to 20 seconds to choose the correct answer from the four choices given. Mark your
answer in the ANSWER SHEET by drawing with a pencil a short bar across the corresponding
letter in the brackets.

Now, listen to the broadcasts.

Questions 21 to 22 are based on the following news.
21. (A) Students ate poisonous school lunches.
(B) Students refused to go to school.
(C) A fight broke out between the health workers and the students.

(D) Students refused to eat school lunches.

22.(A) Nearly 4,000.
(B) About 2,000.
{C) More than 200.
(D) No more than §.

Questions 23 to 24 are based on the following news .
23.(A) Success in achieving the goals.

(B) Commercialization.

(C) Mass consumption.

(D) Extensive participation.

24. (A) Pins, hats and aprons.
(B) Pins, hats and apparel.
(C) Pens, hats and apparel.
(D) Pins, hats and apples.

Questions 25 to 26 are based on the following news .

25.(A) Equal treatment of women and the disabled.
(B) Worldwide support to his African National Congress.
(C) Assistance to the anti-apartheid campaigners in France.

(D) Worldwide action to defeat racial oppression in South Africa.

26.(A) For helping him with the establishment of the African National Congress.
(B) For helping him to defeat their enemies.

(€) For winning the help from France as well as from other countries in the world.



(D) For helping him to get rid of racial oppression.

Questions 27 to 28 are based on the following news.

27.(A) The world’s population will reach 7.6 billion in thirty years.
(B) The world’s population could reach 9 billion in thirteen years.
(C) The world’s population could reach 9 billion in thirty vears.
(D) The world’s population will reach 7.6 billion in thirteen years.

28.(A) During an event on the World Population Day.
(B) At a meeting of the UNFPA.
(C) At a news conference held at UN.

(D) In an interview with a few journalists.

Questions 29 1o 30 are based on the following news .
29. (A) An all-Japanese commercial rocket.

(B) An H-2 rocket.

(C) An experimental European satellite.

(D) An H-2A rocket.

30.(A) In January 2000.
(B) In February 2000.

(C) In January or February next year.
(D) In January or February 2000.

Part IV. Cloze (290 mins.)

Decide which of the choices given below would best complete the passage if inserted in the

corresponding blanks. Mark the correct choice for each blank in your ANSWER SHEET.

Religious and private schools receive little or no support from public taxes in the United
States, and, (31) a result, are usually somewhat expensive to (32). The largest group of reli-
gious schools in America (33) by the Roman Catholic Church. While religious schools tend to be
(34) expensive than private schools, there are usually some (35).

When there (36) free education available to all children in the United States, why do people
(37) money on private schools? Americans offer (38) great variety of reasons for doing so, in-
cluding the (39) of some parents to send their children to schools (40) classes tend to be smaller,
or where religious instruction (41) as part of the educational program, or because, (42) their
opinion, the public schools in their area are not (43) high enough quality to meet their needs.
Private schools in the United States (44) widely in size, quality, and in the kind of program that

7



are offered to meet (45) of certain students.

The degree (46) American parents are active in their children’s schools is often (47) to peo-

ple of other countries. Most schools have organizations (48) of both parents and teachers, usually

called P.T. A. for Parent-Teacher Association. They meet together to (49) various matters con-

cerning the school. Parents often give their time (50) with classroom or after school activities.

31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.
47.
48.
49,
50.

(A) as

(A) go

(A) were run
(A) less

(A) lodging
(A) has been
(A) spend

(A) a

(A) urge

(A) which
(A) is included
(A) to

(A) /

(A) differ

(A) the needs
(A) on which
(A) astounding
(A) consisting
(A) talk

(A) helping

(B) to

(B) attend

(B) run

(B) more

(B) boarding
(B) have been
(B) pay

(B) the

(B) wish

(B) what

(B) are included
(B) in

(B) in

(B) change
(B) the need
(B) to which
(B) astonishing
(B) comprising
(B) comment

(B) to help

(C) in

(C) take part in
(C) is run

(C) rather
(C) tuition
(C)is

(C) cost

(C) some

(C) desire

(C) in that
(C) includes
(C) on

(C) of

(C) extend
(C) needs

(C) which

(C) surprising
(C) composing
(C) discuss
(C) for helping

(D) for

(D) enroll

(D) is running
(D) much

(D) fees

(D) are

(D) take

(D) /

(D) hope

(D) where
(D) has included
(D) for

(D) on

(D) range

(D) need

(D) what

(D) striking
(D) making up
(D) exchange
(D) on helping

Part V. Grammar and Vocabulary (20 mins. )

There are 30 sentences in this section. Beneath each sentence there are 4 words or phrases
marked (A), (B), (C), and (D). Choose the one word ot phrase that correctly completes the
sentence. Mark your answer in the ANSWER SHEET by drawing with a pencil a short bar across

the corresponding letter in the brackets.

Example;

Scarcely had they settled themselves in their seats in the theatre

curtain went up.

(A) then

(B) when

(C) before

the

(D) than

The sentence should read, “Scarcely had they settled themselves in their seats in the

theatre when the curtain went up.” Therefore, you should choose (B).



w

51

52

53

54.

55.

56.

57

58.

59.

Sample Answer;
(A) (B) (© (D)

Nobody should drop litter in the streets, should 7
(A) he (B) they

(C) it (D) we

I hated that pride of .

(A) Mary (B) Marys’
(C) Mary’s (D) Marys

I think your sister is old enough to know

goods.

(A) other than (B) rather than
(C) better than (D) more than
It’s a pretty material, but it

(A) is not washed well
(C) is being washed well

(B) is not washing well

(D) does not wash well

Home is home, it ever so homely.

(A) is (B) was

(C) were (D) be

I can’ t leave smoking, but I’ m holding down
cigarettes a day.

(A) off; to (B) out; by

(C) behind; at (D) alone; for

. The visitors of the exhibition were mostly impressed by a

(A) green Venetian glass (B) Venetian green glass

(C) glass Venetian green (D) green glass Venetian

Discard such things are really of no value.
(A) which (B) as they
(C) as ‘ (D) if they

On that rainy night, John told his father that the lock on the door
(A) was felt (B) felt like

ashtray.

to spend all her money on fancy

three

loose.



(C) was feeling (D) felt

60. Itis_______ _ than her that he wants to marry.
(A) no one (B) not other
(C) none other (D) not another
61. If I were to go up the Amazon, I wouldgoin_______ company of
naturalist since flora and fauna of Brazil are the richest in
the world.
(A) a; a; the; / (B) /; a; the; the
(C) the; a; the; / (D) the; a; the; the
62.1 ought to them about the news, but I have been so busy that I forgot to
do so.
(A) remember telling (B) remember having told
{C) have remembered to tell (D) have remembered telling
63. » he prefers a quiet life.
(A) To be an old man now (B) Being an old man now

(C) Having been an old man now (D) With an old man now

64 . The shape of Italy on a map has often been compared a long Wellington
boot.
(A) with (B) as
(C) 10 (D) like
65. No sooner had the wife entered the kitchen __ a knock at the front gate.
(A) did she hear (B) then she heard
(C) when she heard (D) than she heard
66 . Before every Board Meeting, it is customary for the of the previous meet-
ing to be read out.
(A) minutes (B) precis
(C) notes (D) protocol
67. Riot police often use tear gas to the mob.
(A) dispel (B) dispose
(C) disperse (D) distress

10



68.

69.

70

71

72.

73.

74.

75.

76

—Have you applied ______ a scholarship for that school?
—Not yet. Actually I don’t know what agency I should apply
(A) for;to (B) for; for
(C) tosto (D) tosfor
Jenny and Anderson have _____ and do not speak to each other now.
(A) broken out (B) taken out
(C) fallen out (D) put out
.The typical French ______ for the salad in this Chinese restaurant made the
French guests feel at home.
(A) taste (B) dressing
(C) cook (D) cooking
. Although the heavy rain stopped, it was at least an hour later that the flood began to
(A) retire (B) recede
(C) recline (D) retreat
On the aeroplane the stewardess showed the passengers how to the seat
belt.
(A) do over (B) do with
(C) do up (D) do away
I had a fantastic of luck at a lottery last month.
(A) stretch (B) gust
(C) stroke (D) spell
He badly his ankle when he fell off his bicycle on hig way home yester-
day.
(A) strained (B) sprained
(C) pulled (D) stretched
About 100 workers were work when the factory went bankrupt.
(A) laid on (B) laid down
(C) laid out (D) laid off
.My sister was to this kind of medicine, so we’ve decided to try another
one.
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